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LI H B X 2,325 2,590| 4,915 2,312
o A A - — A A .

BE 1 8 5 13 6| &M@ 1 85 83 168 69
BHE 2 15 19 34 17| &@E 2 24 29 53 31
HE 3 0 0 0 O|R®@E 3 64 74 138 48
BEE 4 0 2 2 T|XxuE 1 42 36 18 36
BH 5 1 2 3 3| Xxm 2 40 62 102 57
BH 6 0 3 3 2| X% 3 88 69 157 65
@ 7 8 8 16 S| X5 4 13 96 169 12
BH 8 46 42 88 46 | X4 5 0 0 0 0
BE 9 26 24 50 23| X1 6 92 105 197 78
HE 10 17 15 32 13|k 1 1 2 3 2
HE 11 122 135 257 108 | Ak 2 6 6 12 6
| 1 2 9 11 o|fR 3 4 2 6 3
| 2 2 3 5 3| 4 3 1 4 4
Jim 3 2 3 5 2% 5 4 3 7 3
| 4 1 0 1 1] 6 2 2 4 3
Nim 5 4 3 1 3| &% 1 14 17 31 14
Nim 6 3 2 ) 3| &% 2 21 24 45 19
N 7 9 3 8 4]1&% 3 24 47 A 36
Nim 8 32 65 97 66 | k% 4 11 16 2] 17
Nim 9 22 37 99 44| %% 5 28 35 63 29
JNim 10 23 32 99 32 |dE 1 13 16 29 16
J\iE 1 9 9 18 9ldE 2 0 0 0 0
i 2 13 12 25 12| dLE 3 6 4 10 4
J\iE 3 20 18 38 15|t 4 13 10 23 13
\iE 4 19 14 33 194 5 3 2 ) 3
J\iE 5 10 14 24 141dLE 6 1 2 3 1
J\iE 6 14 16 30 16 |t 7 30 28 98 32
i 7 20 2] 47 24 | dtix 8 49 o4 103 46
RIG—TH1 2] 17 44 17]4& 9 38 46 84 o4
RIB—TH?2 13 10 23 13 | #iR 1 5 4 9 2
RIGEZTH1 49 46 95 33 | iR 2 ) 9 14 7
RIGZTH?2 66 11 143 68 | AR 3 36 39 15 46
RIKE_THS3 159 165 324 125 | #iR 4 31 34 65 26
RIG_TH4 23 37 60 40 | #R 5 0 0 0 0
RB=TH1 39 34 13 39 | R 7 4 2 6 2
RIB=TH?2 49 93 102 o0 | HER 6 122 130 252 107
RIGMETA 1 99 68 127 o3 | mA 1 94 98 192 88
RIGETH 2 68 13 141 61 |BfO 2 63 133 196 136
RIGETH 3 40 38 18 27 |Ba 3 88 10 158 60
o 4 49 45 94 40

o 5 13 15 28 15
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iRk ib X 1,758 1,785 3,543| 1,430

4= A D -+ L= * D -
ITHRE4 5 = = HHESE | THRE4A 5 = = HHE
fintd 1 32 41 73 28| @R 1 0 0 0 0
kg 2 43 54 97 42 | BDE 2 1 2 3 1
fntE 3 46 53 99 40| BDE 3 6 7 13 6
g 4 30 32 62 22 | BDE 4 0 0 0 0
g 5 59 59 118 46| BDE 5 0 0 0 0
ftE 6 29 29 58 20| BDE 6 0 0 0 0
kg 7 34 34 68 29 |BDE 7 4 2 6 4
fintd 8 14 11 25 10| HDE 8 1 0 1 1
fiE 9 66 82 148 RBlank 9 45 40 85 33
it 10 56 58 114 40| BDE 10 32 32 64 27
fintd 11 51 53 104 A5 | BmiE 11 61 61 122 51
fotE 12 54 54 108 42 | BDE 12 31 26 57 24
fintd 13 32 35 67 31| BADE 13 37 36 73 30
fintd 14 63 65 128 A8 | HDE 14 26 25 51 18
finitd 15 94 99 193 84 | HDE 15 32 29 61 23
finigk 16 124 121 245 102 | HDE 16 29 30 59 21
finig 17 53 51 104 44 | BDE 17 39 32 71 33
finig 18 73 68 141 5 | XK@ 1 56 51 107 44
findg 19 64 47 111 9| XK@ 2 67 62 129 45
finig 20 32 41 73 34| XKiE 8 33 40 73 28
finig 21 11 15 26 19| K& 4 20 29 49 21
X 5 7 9 16 6
X 6 32 49 81 38
Xid 7 15 11 26 10
X 8 25 22 47 21
Xi# 9 10 15 25 12
XKii 10 21 18 39 17
XKii 11 36 35 71 23
Kid 12 5 8 13 4
XKid 13 27 12 39 15

5 X 5 HHEH
R HBX 1,082| 1,079, 2,161 930

4= * E 4= * ﬁ

THRE4 ) = = HEH | TEREA ) = z HHFE
HiE 1 20 10 30 141L£ 1 0 1 1 1
HiE 2 16 14 30 151k 2 0 0 0 0
e 3 9 9 18 11|t S 28 33 61 28
e 4 29 32 61 271 £ 4 5 9 14 6
#E 5 54 61 115 Q1L 5 34 27 61 24
#E 6 28 27 55 9|L 6 13 18 31 12
e 7 15 70 145 66|l L 7 37 39 76 32
HiE 1 0 0 0 0|t 8 35 54 89 46
WE 2 33 38 71 35 |HEAE1 713 69 142 57
WE 3 2 3 [ 3 |HFEAE2 31 41 712 26
WE 4 0 0 0 0 |HFEAES 58 54 112 43
WE 5 0 0 0 0 |HFEAHrE4S 48 39 87 34
HF 1 0 0 0 0 |&HFEAEDS 19 12 31 12
H 2 4 4 8 4 |HFHEG6 23 23 46 20
H 4 0 0 0 Oj&K 1 28 31 59 23
# 5 1 0 1 1]H/K 2 14 15 29 1
#F 6 0 0 0 Oj&K 3 79 83 162 72
Bk 4 50 54 104 42
gk 5 83 75 158 63
HFOK 1 36 11 11 33
BHFDOK 2 62 40 102 36
HFOKR 3 19 24 43 18
HFDOA 4 10 9 19 9
HFDA 5 26 20 46 18
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AiR#BX 885 872 1,757 705
ARES g *,k':' | s | ARES *#” =
XKiR 1 25 20 45 22 | KR 14 13 29 42 29
KR 2 21 30 51 15 | KiR 15 50 59 109 42
KR 3 8 3 11 71| 8B 52 10 62 62
KR 4 91 95 186 75
KR 5 83 85 168 61
XKiR 6 135 145 280 105
XKiR 7 20 23 43 20
XiR 8 81 76 157 57
XKiR 9 27 32 59 22
XiR 10 32 26 58 24
KR 11 50 57 107 35
KR 12 116 109 225 76
XKiR 13 81 73 154 53
CZ T = HHE
Hi
SRR 1,488 1,562 3,050 1,208
ABES g EE | TEEA S|
LE/E 1 43 38 81 311 Ak 1 26 23 49 19
LTE/E 2 13 15 28 8|1 Ak 2 9 6 15 6
LTE/E 3 17 18 35 14| Al 3 65 74 139 56
LTE/E 4 51 58 109 40] Ak 4 56 60 116 45
LTERE 5 40 41 81 34| A 5 84 93 177 65
REME 1 32 26 58 25| A 6 10 8 18 8
REME 2 24 23 47 17| Al 7 43 48 91 50
REME 3 55 54 109 45 | =i 1 60 58 118 44
REME 4 81 88 169 5= 2 56 57 113 43
HREMIE 5 72 64 136 45 | =il 3 43 47 90 32
HEME 6 88 85 173 5|l 4 19 20 39 17
INTFE 1 18 24 42 16 | =Nl 5 38 37 75 22
INFHR 2 12 18 30 14| %INl 6 34 39 73 31
INTFHK 3 28 35 63 26 | = 7 28 23 51 15
INTFHK 4 31 43 74 27 | =l 8 15 11 26 9
By 1 37 40 117 31Nl 9 17 28 45 21
B 2 28 33 61 22 | 5w 10 11 12 23 7
Bl 3 60 66 126 74
Bl 4 49 45 94 34
Bl 5 76 79 155 60
Bl 6 19 25 44 19




